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Atomic Structure Review

The 3 particles of the atomare: Their respective charges are:

b. LTINS b. Yeuval

c. €\ecAdnS c. NRanhuR
o

The atomic number tells you the number of DWS in one atom of an
element. It also tells you the number of __ & \‘P (‘,WS in a neutral atom of that
element. The atomic number gives the “identity” of an element as well as its location on the

Periodic Table. No two different elements will have the 5(117\2 atomic
number.

The (!5&5! 51. C MASS CULQQJ‘“: }1 element is the average mass of an element’s naturally
occurring atom, or isotopes, taking into account the QL\.’JMO\CLY\ 85 of each
isotope.

The_TASS [)!;m!:e[ of an element is the total number of protons and neutrons in

the_ nucleuS of the atom.

The mass number is used to calculate the number of f\ﬂms in one atom of

an element. In order to calculate the number of neutrons you must subtract the

]!&[ﬂ h;Q had from the "NQISS ‘Fk .
(?WS\ & alomic -y

Give the symbol and number of protons in one atom of:

Lithium _]_1 2ot Bromine (35 \'3"r
Iron F? 2(o| lD’r Copper (.&A ').q f.‘
Oxygen O 8 P+ Mercury \'S(C\ BOD+
Krypton Kv Sle ?* Helium 5 é) 2 {>l+

- i
Caléulate the number of electrons in a neutral atom of: e ?YD\'D'\S = ﬂtm ] 5 haxh‘a‘

Uranium Y ql ' Chlorine G\ i £
Boron B o e lodine I 53¢
Antimonys‘b 5\ e Xenon X ¢ sy (o

- : = v -
o A g e €3 = S
Carbon-12  \~(e :(_Q_ V(O Hydrogen-1 1=12 0 Y\.
Fluorine20 20 =4 = \\ v’ Magnesium-24_ 2L~ VL = L W
Europium-152_152 - (23 = %.q n? Mercury-201 2.0\~ €0 = 121 n’
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Name the clement which has the following numbers of particles:

a. 26 electrons, 29 neutrons, 26 protons If‘O/\ FQ_
i ) % T
b. 53 protons, 74 neutrons __L.ading
e :
c. 2 electron; é“e“tml atom) “‘Q,\\\mf\ “ﬁ
: 2 S ' Cen —
d 0 protons __Ca\ ¢ iuma 20%
e. 86 electrons, 125 neutrons, 82 protops (charged atom) RQC) ]:b

If you know only the following information can you always determine what the element is? (Yes/No).

a. number of protons }i Q

b. number of neutrons YNO

C. number of electrons in a neutral atom \!QS

d. number of electrons__YH)O

Fill in the missing items in the table below.

Name Atomic # Mass # #p #e #n Atomic Notation

pretaus| 5| 2) | 1D | 1B | 16 *Ip>

Iron | 2(0 S0 2(0 15 30 54 Fﬁ_,n+

Yy -
Caltium | 20 4o 20 22 20 °Ca®

Suppose that there were two isotopes of Sodium. 25% of the naturally occurring sodium atoms had a mass of 22,
and 75% atoms had a mass of 23. Estimate the average atomic weight of sodiumbe?

21.5 151" x

1 - 5
22 T n¥al Ll

Suppose that there were two natural isotopes of Copper and the atomic mass was 64.6. The two isotopes have a
mass of 63 and 65. What would be the approximate percent abundance for each isotope?

M- .
\ (o:\ N AN GSCU\ =0071.
! 6], q‘.:‘u I :

03 (65 _
(bﬁ'cu = 80/
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